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HTET PGT English Language — 100 MCQs
B Grammar & Usage

1. Identify the correct sentence:
A) He don't like mangoes.

B) He doesn't likes mangoes.
C) He doesn't like mangoes.

D) He not likes mangoes.
Answer: C

2. Choose the correct passive form: "She writes a letter."
A) A letter is written by she.

B) A letter is being written by her.

C) A letter was written by her.

D) A letter is written by her.

Answer: D

3. Fill in the blank: "If | ___you, | would not do this."
A) was

B) were

C) am

D) be

Answer: B

4. Identify the part of speech of the underlined word: "He ran quickly.
A) Adjective

B) Adverb

C) Verb

D) Noun

Answer: B

5. Choose the correct synonym of "Eminent";
A) Unknown

B) Popular

C) Distinguished

D) Equal

Answer: C
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6. Select the correctly punctuated sentence:
A) Yes | will go.

B) Yes, | will go.

C) Yes |, will go.

D) Yes. | will go

Answer: B

7. Choose the antonym of "Expand":
A) Increase

B) Grow

C) Shrink

D) Enlarge

Answer: C

8. Which of the following is a complex sentence?
A) | came, | saw, | conquered.

B) He ran fast but missed the bus.

C) Although he was late, he attended the meeting.
D) Close the door.

Answer: C

9. What type of clause is underlined? "l know that he is coming."
A) Noun clause

B) Adverbial clause

C) Adjective clause

D) Principal clause

Answer: A

10. The word "brevity" means:
A) Longevity

B) Shortness

C) Clarity

D) Length

Answer: B
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) Reading Comprehension

11. Read the passage and answer: What is the central idea of the
passage? (Passage not shown)

A) To describe an event

B) To persuade readers

C) To entertain readers

D) To inform about a topic

Answer: D

12. Which of the following best describes the author's tone? A) Critical
B) Sarcastic

C) Informative

D) Indifferent

Answer: C

13. The word "elaborate" in the context of the passage most likely
means: A) Shorten

B) Complicate

C) Explain in detalil

D) Ignore

Answer: C

14. What does the phrase "a blessing in disguise" mean? A) A hidden
curse

B) A disguised danger

C) A good thing that seemed bad at first

D) A blessing visible to all

Answer: C

15. Skimming is useful when: A) You want to memorize the text
B) You need to understand every detail

C) You need a general idea quickly

D) You are learning vocabulary

Answer: C

£ Literary Devices
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16. Which figure of speech is used: "The wind whispered through the
trees." A) Simile

B) Metaphor

C) Personification

D) Alliteration

Answer: C

17. Identify the figure of speech: "Life is a journey." A) Simile
B) Hyperbole

C) Personification

D) Metaphor

Answer: D

18. Alliteration is: A) The repetition of vowel sounds

B) The repetition of consonant sounds at the beginning of words
C) The use of rhyming words

D) A long poem

Answer: B

19. Identify the literary device: "He is as brave as a lion." A) Metaphor
B) Simile

C) Personification

D) Irony

Answer: B

20. Irony is when: A) Words rhyme

B) Opposite of what is expected happens
C) The poet exaggerates

D) A direct comparison is made

Answer: B

[ Vocabulary & Spelling

21. Choose the correct spelling: A) Recieve
B) Receive

C) Receeve

D) Receave

Answer: B
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22. Choose the word that means the same as "Innovative": A) Traditional
B) New and creative

C) Repetitive

D) Useless

Answer: B

23. Opposite of "Generous" is: A) Kind
B) Mean

C) Rich

D) Caring

Answer: B

24. Select the correctly spelt word: A) Accomodation
B) Acommodation

C) Accommodation

D) Acomoddation

Answer: C

25. Choose the synonym of "Transparent”: A) Opaque
B) Clear

C) Thick

D) Cloudy

Answer: B

¥4 English Pedagogy

26. The main aim of English language teaching is: A) Memorizing
grammar rules

B) Translation skills

C) Communication

D) Repeating sentences

Answer: C

27. Which method focuses on habit formation? A) Grammar-Translation
B) Direct Method

C) Audio-Lingual Method

D) Bilingual Method

Answer: C
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28. The use of real-life situations in language learning is called: A)
Structural approach

B) Communicative approach

C) Grammar-based approach

D) Traditional approach

Answer: B

29. A teacher should correct students' mistakes: A) Immediately
B) Never

C) Politely and constructively

D) Rudely

Answer: C

30. Which skill is considered a receptive skill? A) Speaking
B) Writing

C) Reading

D) Presentation

Answer: C

31. Teaching aids are used to: A) Waste time
B) Entertain students

C) Clarify concepts and motivate learners

D) Decorate the class

Answer: C

32. Which one is a productive skill? A) Reading
B) Listening

C) Writing

D) Viewing

Answer: C

33. Language skills include: A) Reading, listening, speaking, writing
B) Reading and writing only

C) Speaking and writing only

D) Listening and drawing

Answer: A
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34. LSRW stands for: A) Listen, Speak, Read, Write
B) Learn, Study, Read, Work

C) Learn, Speak, Rewrite, Work

D) Lead, Speak, Read, Write

Answer: A

35. The best way to develop speaking skill is: A) Grammar drills
B) Reading aloud

C) Oral interaction

D) Copying from books

Answer: C

@ Advanced Grammar & Usage

36. Identify the correct usage of the future perfect tense: A) She will have
finished her work by 5 PM.

B) She will finish her work by 5 PM.

C) She is finishing her work by 5 PM.

D) She finishes her work by 5 PM.

Answer: A

37. Choose the correct sentence in reported speech: A) He said, "l am
going to market." B) He said that he is going to market.

C) He said that he was going to market.

D) He said he will go to market.

Answer: C

38. Select the sentence that uses conditional type 2: A) If you call me, |
will come.

B) If | were rich, | would buy a car.

C) If he had seen me, he would have waved.

D) If she calls, tell her I'm busy.

Answer: B

39. Identify the part of speech of the underlined word: "The book on the
table is mine." A) Conjunction

B) Adverb

C) Preposition
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D) Article
Answer: C

40. Find the error: "Each of the boys have done their homework." A) Each
B) have

C) their

D) homework

Answer: B

41. Which sentence is in the subjunctive mood? A) | wish | were taller.
B) | am taller now.

C) | was taller last year.

D) | will be tall someday.

Answer: A

42. Choose the correct transformation of the sentence: "He is too weak
to run." A) He is very weak and cannot run.

B) He is so weak that he cannot run.

C) He is weak therefore he runs.

D) He is weak yet he runs.

Answer: B

43. Choose the correct sentence: A) Neither of the boys are guilty.
B) Neither of the boys is guilty.

C) Neither boys is guilty.

D) Neither boys are guilty.

Answer: B

44. Which one is an example of a compound sentence? A) Although he
was tired, he worked.

B) He worked hard and he succeeded.

C) To work is to live.

D) Working hard is the key.

Answer. B

45, Select the correct sentence using a relative clause: A) The man who is
wearing a red hat is my uncle.
B) The man, is my uncle, wearing red.
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C) The man is my uncle who red hat.
D) The man wearing red is uncle who.
Answer: A

46. Which sentence uses an infinitive phrase? A) He wants to play cricket.
B) He playing cricket.

C) He is played cricket.

D) He was plays cricket.

Answer: A

47. Identify the correct use of modals: A) You must to go now.
B) You should go now.

C) You can going now.

D) You might goes now.

Answer: B

48. Choose the correct tag: "You're coming, ___?" A) are you
B) isn't it

C) aren't you

D) weren’t you

Answer: C

49, Choose the correct use of articles: A) He is a honest man.
B) He is the honest man.

C) He is an honest man.

D) He is honest man.

Answer: C

50. Identify the correct transformation: "She said, 'l like coffee." A) She
said that she liked coffee.

B) She said that she likes coffee.

C) She says that she liked coffee.

D) She said she like coffee.

Answer: A

I English Literature

51. Who wrote the play "Macbeth"? A) John Milton
B) William Shakespeare
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C) Charles Dickens
D) Geoffrey Chaucer
Answer: B

52. The poem "Daffodils" was written by: A) Robert Frost
B) William Wordsworth

C) P.B. Shelley

D) John Keats

Answer: B

53. Which novel begins with the line, "It was the best of times, it was the
worst of times"? A) Pride and Prejudice

B) A Tale of Two Cities

C) Oliver Twist

D) Great Expectations

Answer: B

54. Who is the author of "Paradise Lost"? A) William Blake
B) John Milton

C) Samuel Johnson

D) T.S. Eliot

Answer: B

55. Who wrote the poem "Ode to a Nightingale"? A) John Keats
B) William Wordsworth

C) Lord Byron

D) Robert Burns

Answer: A

56. What is the genre of Shakespeare’s "Hamlet"? A) Comedy
B) History

C) Tragedy

D) Romance

Answer: C

57. Which literary device is used when inanimate objects are given
human traits? A) Simile
B) Metaphor
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C) Hyperbole
D) Personification
Answer: D

58. George Orwell is known for which famous novel? A) Brave New
World

B) Animal Farm

C) Heart of Darkness

D) Wuthering Heights

Answer: B

59. The term "stream of consciousness" is associated with: A) Virginia
Woolf

B) Jane Austen

C) Charles Dickens

D) Emily Bronté

Answer: A

60. Which Shakespearean character says, “To be, or not to be, that is the
question”? A) Macbeth

B) Othello

C) Hamlet

D) King Lear

Answer: C

61. Who is the author of "The Waste Land"? A) T.S. Eliot
B) Ezra Pound

C) W.H. Auden

D) Philip Larkin

Answer: A

62. In which century did Geoffrey Chaucer write "The Canterbury Tales"?
A) 12th

B) 13th

C) 14th

D) 15th

Answer: C
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63. Who is the heroine of the novel "Pride and Prejudice"? A) Jane
Bennet

B) Charlotte Lucas

C) Elizabeth Bennet

D) Lydia Bennet

Answer: C

64. The poem "The Road Not Taken" was written by: A) Emily Dickinson
B) Sylvia Plath

C) Robert Frost

D) Walt Whitman

Answer: C

65. What is the rhyme scheme of a Shakespearean sonnet? A) ABBA
ABBA CDE CDE

B) AABB CCDD EEFF

C) ABAB CDCD EFEF GG

D) ABC ABC DEF DEF

Answer: C

66. Who wrote the novel "Jane Eyre"? A) Emily Bronté
B) Charlotte Bronté

C) Anne Bronté

D) George Eliot

Answer: B

67. What is a “parable”? A) A humorous story
B) A story with animal characters

C) A moral story

D) A tragic story

Answer: C

68. The character 'Heathcliff’ appears in which novel? A) Jane Eyre
B) Wuthering Heights

C) Vanity Fair

D) Middlemarch

Answer: B
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69. What type of poem is “Ozymandias” by Shelley? A) Sonnet
B) Ode

C) Elegy

D) Ballad

Answer: A

70. Who wrote the play “The Importance of Being Earnest”? A) Oscar
Wilde

B) Bernard Shaw

C) Arthur Miller

D) Harold Pinter

Answer: A

71. Who wrote the essay “On Liberty”? A) Thomas Paine
B) John Stuart Mill

C) Karl Marx

D) Aldous Huxley

Answer: B

72. Which literary term refers to a play on words? A) Satire
B) Irony

C) Pun

D) Allegory

Answer: C

73. In which novel does the character “Atticus Finch” appear? A) The
Catcher in the Rye

B) To Kill a Mockingbird

C) The Great Gatsby

D) Of Mice and Men

Answer: B

74. The term “tragic flaw” refers to: A) A flaw in the audience
B) A flaw in the actor's costume

C) A character flaw leading to downfall

D) A literary device

Answer: C




Page |14

75. Who is known for the line: “Beauty is truth, truth beauty”? A) William
Blake

B) William Wordsworth

C) John Keats

D) Samuel Coleridge

Answer: C

© Teaching Methodology & Applied Pedagogy

76. What is the main focus of constructivist teaching? A) Memorization
of facts

B) Teacher-centered instruction

C) Active learner participation

D) Standardized testing

Answer: C

77. The term “scaffolding” in education refers to: A) Setting up a school
building

B) Providing temporary support for learners

C) Punishing students for errors

D) Encouraging rote learning

Answer: B

78. Which is a principle of child-centered education? A) Discipline before
freedom

B) Learning through experience

C) Rigid curriculum adherence

D) One-size-fits-all teaching

Answer: B

79. Formative assessment is used to: A) Assign grades at the end of the
term

B) Compare students with each other

C) Monitor learning progress

D) Select students for scholarships

Answer: C
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80. Which approach emphasizes learning by doing? A) Behaviorism
B) Constructivism

C) Humanism

D) Cognitivism

Answer: B

81. The reflective teacher: A) Ignores student feedback
B) Teaches without planning

C) Continuously evaluates their own teaching

D) Follows the textbook blindly

Answer: C

82. Diagnostic assessment is used: A) To test at the end of the year
B) Before instruction to identify learning gaps

C) Only for gifted students

D) To award ranks

Answer: B

83. Remedial teaching is for: A) Advanced learners
B) Students who are bored

C) Students with learning difficulties

D) Regular students

Answer: C

84. Which of the following promotes inclusive education? A) Labeling
students

B) Fixed ability grouping

C) Encouraging diversity

D) Isolating children with special needs

Answer: C

85. The use of real-life situations in teaching promotes: A) Abstract
thinking

B) Rote memorization

C) Meaningful learning

D) Exam success only

Answer: C
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86. A good teacher-student relationship is based on: A) Fear and
punishment

B) Strict control

C) Mutual respect and understanding

D) Teacher superiority

Answer: C

87. Teaching aids are useful because they: A) Entertain students
B) Add color to class

C) Make concepts clear and concrete

D) Replace the teacher

Answer: C

88. The term “differentiated instruction” means: A) Teaching one way to
all

B) Using the same materials for all

C) Adapting methods to meet diverse needs

D) Ignoring learner differences

Answer: C

89. Peer learning is effective because: A) It is teacher-free
B) Students fear teachers

C) Students explain better to each other

D) Students learn less

Answer: C

90. The goal of educational technology is to: A) Make teachers obsolete
B) Entertain students

C) Improve teaching-learning outcomes

D) Replace books

Answer: C

91. A reflective journal helps teachers to: A) Write stories
B) Track teaching progress and improve

C) Maintain attendance

D) Document syllabus only

Answer: B
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92. According to Bloom's Taxonomy, 'Evaluation’ is: A) A low-order skill
B) A mid-level skill

C) A high-order skill

D) Not part of learning

Answer: C

93. A lesson plan helps teachers to: A) Waste time
B) Skip syllabus

C) Organize and deliver instruction effectively

D) Avoid classroom management

Answer: C

94. Which one supports student autonomy? A) Guided discovery
B) Dictation

C) Drill practice

D) Memorization tasks

Answer: A

95. Use of story-telling in teaching enhances: A) Listening and
imagination skills

B) Rote learning

C) Fear of language

D) Memorization only

Answer: A

96. Microteaching is a technique used: A) In large classrooms
B) For testing exams

C) For practicing teaching skills

D) For peer fights

Answer: C

97. The use of collaborative activities encourages: A) Independent
thinking only

B) Competition only

C) Social interaction and learning

D) Teacher control

Answer: C
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98. In language learning, fluency is: A) Speed without accuracy
B) Accuracy without speed

C) Smooth and effective communication

D) Speaking loudly

Answer: C

99. Using rubrics in assessment helps: A) Confuse students
B) Provide clear criteria and feedback

C) Reduce scores

D) Delay results

Answer: B

100. Effective classroom management includes: A) Punishing students
B) Ignoring noise

C) Clear rules and consistent routines

D) Letting students do anything

Answer: C




